
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=math-worksheets


 

  
www.cuemath.com 

 
 
 

1) Find the quotient if we divide 624 from 4. 
 

2) State whether the statement is true or false:  
On dividing 724 from 4 we get 181 as the quotient. 
 

3) Joel needs 492 balloons for the party but balloons come in a  pack 
of 6. How many packs should he buy? 

 
 

4) Find the quotient of the following using long division:   
672 ÷ 3 

 
 

5) Paula was reading a book and if the book has 264 pages and she 
can read 8 pages in a day. Then how many days will it take her to 
complete the book? 
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6) Find the quotient. 

 
 

7) Find the missing number: 
a.  ___ ÷ 15  = 8 

  b.   76 ÷___=4 
 

8) In a marriage party every 8th person brought a bouquet. If 560 
people attended the marriage, how many bouquets have been 
received? 

 
 

9) Choose two numbers from 32, 96, 14, 98, 102 complete the 
sentence.  

_____ ÷ ____ have a quotient 3 
_____ ÷ ____ have a quotient 7 

 
 

10) If a man earns $20 per day, in how many days will he be able to 
earn $ 1000? 
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1) 156 

2) True 

3) 82 

4) 224 

5) 33 days 

6) 188 

7) a) 120, b) 19 

8) 70 bouquets 

9) 96 ÷ 32 
98 ÷ 14 

10) 50 days 
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1. The modern algorithm to solve long division 
was given by Henry Briggs in 
1600 AD. 

 
 
 

2. Division algorithm, Dividend = Divisor x 
Quotient + Remainder 
 
 

3. Dividing any number by 1 does not change the 
value of the number. 
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